[ Efficiency vs vertpos |
0.8

0.7

0.6

0.5

efficiency vs vert r

0.4

0.3

0.2
e e e

15

IR RN RN RLLEE RN RS LR LR LR

Ratio

1

r
T
-

......... L e S

1
1072 107 1

10 0?
TP vertr (cr%)

—=#— DQM_CKF_XiMinusNOPU_base
Efficiend —— poMm_CKF_xiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch2

~n 0.2
LT R R R R .

2] _ . . . . .
Z0.16------ AR RS RIS IR P
> E : : : : :
& C : : : : :
R S A A S A
B F : : : : :
£0.12-- A R R S P
o E : : : : :

O St e St B S SR
0.08F--- """" """" """"
0,06+ b
A

YT S S R 0 S S
20

Ratio

2

[ Efficiency vs. sim PV z |
~n 0.2
> o
D—_0.18_—
S T T
AR S 1 A S
20.14F
> A
o S IRt AL S L

9] E
(&) - N H H . N N N N N
R N | e S S AR AL AR A
o r N N N N N N N N N

0.08F
0.06F
0.04F
0.02F

Ratio

.....................................

6 4 2 0 2 4 6 8 10
Sim. PV z (cm)

[
N Ul
P
of ! !
1 I : :
= A



	Contents
	Page 1


